i : UNIVERSITY of CAMBRIDGE
: nternational Examinations

Cambridge Advanced




Permission to reproduce items where third-party owned material protected by copyright is included has
been sought and cleared where possible. Every reasonable effort has been made by the publisher (UCLES)
to trace copyright holders, but if any items requiring clearance have unwittingly been included, the publisher
will be pleased to make amends at the earliest possible opportunity.

University of Cambridge International Examinations is part of the Cambridge Assessment Group. Cambridge
Assessment is the brand name of University of Cambridge Local Examinations Syndicate (UCLES), which is
itself a department of the University of Cambridge.

University of Cambridge International Examinations retains the copyright on all its publications. Registered
Centres are permitted to copy material from this booklet for their own internal use. However, we cannot
give permission to Centres to photocopy any material that is acknowledged to a third party even for internal
use within a Centre.

© University of Cambridge International Examinations 2012



Contents

IMETOAUCTION ..ottt 2
ASSESSMENT AT A GlANCE ....uiiiii i 3
P AT T o e 4
P AT 113



Introduction

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS and A
Level Geography (9696), and to show how different levels of candidates’ performance relate to the subject’s
curriculum and assessment objectives.

In this booklet a range of candidate responses has been chosen as far as possible to exemplify grades A, C
and E. Each response is accompanied by a brief commentary explaining the strengths and weaknesses of the
answers.

For ease of reference the following format for each paper of the subject has been adopted:

Each question is followed by an extract of the mark scheme used by examiners. This, in turn, is followed by
examples of marked candidate responses, each with an examiner comment on performance. Comments are
given to indicate where and why marks were awarded, and how additional marks could have been obtained.
In this way, it is possible to understand what candidates have done to gain their marks and what they still
have to do to improve their grades.

Past papers, Principal Examiner Reports for Teachers and other teacher support materials are available on
http://teachers.cie.org.uk
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Assessment at a glance

Assessment at a glance

Teachers are reminded that a full syllabus is available on www.cie.org.uk
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Paper 1

Paper 1

Section A
Question 1
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Mark scheme

1

(a) Identify the features labelled in photograph Z.
@ A
river cliff
(ii) B

slip off slope/point bar

(b) Describe the process that leads to one of the features you have identified in (a).

A well labelled diagram can get 2/3 marks.

Candidates will describe either the slip off slope/point bar or the river cliff.

River cliff

Water flows fastest on the outer bend of the river where the channel is deeper
and there is less friction. This is due to water being flung towards the outer bend as
it flows around the meander, this causes greater erosion which deepens the
channel, in turn the reduction in friction and increase in energy results in greater
erosion. This lateral erosion results in undercutting of the river bank and the formation
of a steep sided river cliff.

Slip off slope

In contrast, on the inner bend water is slow flowing, due to it being a low energy
zone, deposition occurs resulting in a shallower channel. This increased friction
further reduces the velocity (thus further reducing energy), encouraging further
deposition. Over time a small beach of material builds up on the inner bend; this is
called a slip-off slope.
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(c) Briefly explain how a floodplain is formed. [3]

River transportation is an essential process in the formation of a floodplain. At
this stage, the river will carry a large load, by solution and suspension and also
by saltation and traction. When the river floods over the surrounding land it
loses energy and deposition of its suspended load occurs. The shallower depth
of water flowing over the surface results in frictional drag and a reduction in
velocity (speed) of flow. As the floodwater loses energy, the capacity and
competence of the flood-water is reduced, leading to deposition. The heaviest
materials (bedload) are deposited first nearest the channel, as these require
the most energy to be transported and therefore build up around the sides of
the river forming raised banks known as levees. Finer material such as silt and
fine clays continue to flow further over the floodplain before they are deposited
(alluvium). Regular flooding results in the building up of layers of nutrient rich
alluvium which forms a flat and fertile floodplain. The slopes of the river valley
border the edge of the floodplain. These slopes are known as the “bluff line”.

Example candidate response — grade A
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Examiner comment — grade A

This is a somewhat variable answer but overall is worth the grade. The landforms are correctly identified in
part (a). Like many candidates, both features have been explained instead of only one. The key processes
are mentioned, such as helicoidal flow, but are not explained. Also, the answer is somewhat limited in its
explanation of erosional processes. In part (¢) most of the main aspects are covered but the answer just
lacks a little detail especially on the need for repetitive flooding.

Mark awarded = 6 out of 10

Example candidate response — grade C
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Examiner comment — grade C

There is one misidentification in Part (a). Point bar is taken as the feature answered in Part (b). The
processes involved are explained competently but lack detail. The operation of helicoidal flow is not
explained. Also, the answer lacks information on the nature of the sediment that is deposited. Part (c), on
the floodplain, is answered in a very basic way. There is no account of the nature and cause of infiltration or

the need for a repetition of events. A certain knowledge is demonstrated but all parts of the answer do not
go far enough.

Mark awarded = 5 out of 10

Example candidate response — grade E

Examiner comment — grade E

In part (a) only the slip-off slope is correctly identified. The location of the slip-off slope is incorrectly
identified in part (b) and is confused with riffles. There is no link to helicoidal flow. The answer
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demonstrates only partial knowledge and understanding. Part (¢) has some merit but the diagram

is unconvincing and there is only a brief explanation of overbank deposition. As with part (b), some
knowledge is shown but it is very incomplete.

Mark awarded = 4 out of 10

Question 2
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Mark scheme
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Example candidate response — grade A
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12

Examiner comment — grade A

Part (a)(i) is correct but not (ii). The answer to part (b) is very comprehensive and its great merit is that

it continually compares urban with rural situations. The start of the answer is slightly off the focus of the
question, but the main part of the answer is clearly focused with a good balance between temperature and
precipitation. The only blemish is the failure to explain the albedo effect and the heat given off by human
activities. The explanation of precipitation differences is thorough. The account of pollution only lacks some
indication of the nature of the pollutants.

Mark awarded = 7 out of 10
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Example candidate response — grade C
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14

Examiner comment — grade C

Part (a)(i) is correct but (ii) is incorrect. In part (b), the candidate clearly understands that buildings etc.
retain heat but there is no explanation as to why. The answer also recognises the role of heat sources

in urban areas. The role of air pollution is also recognised. The explanation for precipitation differences
wanders off the point into relief rainfall, arguing that many towns are situated on hills. The candidate does
recognise the role of convection but omits condensation nuclei. There is little direct comparison between
rural and urban areas. Thus, the knowledge and understanding is partial, but the answer is not without
merit. In part (e), there is no mention of the nature of the pollutants and the answer is confused over water

vapour.

Mark awarded = 5 out of 10
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Example candidate response — grade E

Examiner comment — grade E

Part (a) (i) is correct but part (ii) is incorrect. In part (b) there is a partial explanation but with serious
limitations. The candidate recognises that concrete etc. absorbs short wave radiation and then re-radiates it
at night but there is no explanation. The precipitation in urban areas is related to convection but again with
little explanation and there is no mention of condensation nuclei. There is no comparison with rural areas.
In part (c) there is a very basic mention of industries producing pollutants but no detail. The candidate then
gets a little confused in trying to explain smog. Overall, the answer demonstrates some basic knowledge
but with large gaps.

Mark awarded = 4 out of 10
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Question 3

Mark scheme
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Example candidate response — grade A
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18

Examiner comment — grade A

In part (a) (i) the feature is correctly identified but there is no description and the answer trails off into
explanation. In part (ii), the feature is partially identified but then there is a description of material that has
moved and not the feature itself. In part (b), the candidate does show an understanding of slope stability
and the factors governing it. The answer recognises the importance of the juxtaposition of rock types, the
role of water and uses terms such as cohesion and friction correctly. Also, the candidate understands the
nature and importance of pore water pressure. This is a very comprehensive and accurate answer.

Mark awarded = 7 out of 10

Example candidate response — grade C

Examiner comment — grade C

Part (a) identifies both features. The description of the features is not as clear as it might be, but is along
the right lines. In part (b) the candidate does recognise the concepts of shear strength and shear stress and
does know that water has a role but gets confused over impermeability with little understanding as to why
instability occurs. The candidate uses terms such as ‘hard’, which are not very useful. The answer then
becomes confused with angle of rest and the nature of granite and basalt. This answer demonstrates that
marks can be awarded in a variety of ways. There is some valid understanding but it is not consistent.

Mark awarded = 5 out of 10
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Example candidate response — grade E
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Examiner comment — grade E

Both features are misidentified in part (a). The answer to part (b) belies the lack of success in part (a). Itis
a lengthy answer which demonstrates sound knowledge and understanding of some of the factors leading
to instability. The role of weathering is noted as well as rock structure such as joints and bedding planes.
The Holbeck Hall landslide is a good example to use. This part of the answer suggest a competence
beyond grade E but is let down by part (a). This demonstrates the need for consistency throughout an
answer.

Mark awarded = 4 out of 10
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Question 4
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Mark scheme
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Example candidate response — grade A

Examiner comment — grade A

Both parts are correct in (a). The answer to part (b) is comprehensive but with a slight misreading of
the resource. The answer to part (¢) is competent with relevant points for both MEDCs and LEDCs but
the depth of analysis is somewhat limited, especially for LEDCs. There are many reasons that could
be addressed but both MEDCs and LEDCs are covered. This is a consistent answer across all three
components and, thus, deserves the grade.

Mark awarded = 7 out of 10
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Example candidate response — grade C
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Examiner comment — grade C

The answer to part (a) is correct. The answer to part (b) demonstrates the need to read the question very
carefully because the question has been completely misinterpreted. The candidate tries to explain the data
rather than simply describing it. This is a common error that has been referred to many times in Examiners'
Reports. The answer to part (¢) does discuss both MEDCs and LEDCs with relevant arguments but lacks

detail in the argument. A greater depth of detail is needed in the discussion or a wider range of issues, in
order to achieve higher marks.

Mark awarded = 5 out of 10

Example candidate response — grade E
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Examiner comment — grade E

The answer to part (a) is correct. In part (b), the data have been misread which makes the answer
incomplete. The answer to part (¢) is ill-focused and descriptive rather than explanatory. The points made
are basically relevant but are not made so in the answer.

Mark awarded = 4 out of 10
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Question b

Mark scheme
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Example candidate response — grade A
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Examiner comment — grade A

The key to a good answer for part (a) is a comprehensive coverage of both age/sex pyramids with use of
data extracted from the pyramids. Many candidates simply notice the difference between the ages of 30
and 40. This candidate does examine the pyramids in their entirety with some data. But the amount of
data back-up is limited, thus restricting the award of full marks. However, the coverage is sufficient for a
good mark. The answer to part (b) is also fairly comprehensive covering both gender and age. The level of
explanation is sensible but lacks detail in places. However, both answers do cover the main points outlined
in the mark scheme. With a little more use of the resource, the mark could have been considerably higher.

Mark awarded = 6 out of 10

Example candidate response — grade C
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Examiner comment — grade C

There is much to credit in the answer to part (a) in that the candidate does extract information from the
pyramids. The answer concentrates on the bulge in the age range 25-45 and the older population but
ignores the younger age groups. However, the analysis is quite detailed. In the answer to part (b), two
relevant points are made about the working and old age populations, but the level of analysis is limited.
With quite minor additions to both parts, this answer could be raised considerably. The difference between
this and the exemplar for a grade A is merely the comprehensiveness of the detail.

Mark awarded = 5 out of 10
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Example candidate response — grade E
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32

Examiner comment — grade E

The characteristic of an answer at this level is an ability to describe elements of the resource but to
struggle when discussion or explanations are required. This is true here. In part (a) the main bulge in the
immigrant population in mid-years is identified as well as some aspects of the older population, using data
extracted from the resource. But, for part (b), the candidate seems not to understand the question. Also,
unsubstantiated statements, of little merit, are made.

Mark awarded = 4 out of 10
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Question 6
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Mark scheme

Example candidate response — grade A
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36

Examiner comment — grade A

Most candidates identified the cities correctly for part (a) so the differentiation in marks between candidates
will occur in parts (b) and (¢). The answer to part (b) is comprehensive noting the change in ranking and
the time periods over which the growth of New York and Sdo Paulo have occurred. The only element
lacking is some indication of the populations at the various periods. The key to a good answer in part (c) is
to discuss the challenges faced by growing cities. Answers, in general, tended to describe the problems
but often did not translate this into why they are challenges. This answer tends to follow this trend.

Some of the issues are enumerated, such as congestion and pollution, but why these are a challenge is

only vaguely dealt with. Problems are not necessarily challenges. Some problems are easily dealt with.
However, the problems are relevant and varied.

Mark awarded = 6 out of 10
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Example candidate response — grade C
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38

Examiner comment — grade C

Part (a) is correct. The answer to part (b) covers most of the points but is expressed in very general

terms with little quantitative information. It also wanders off the question at the end. This last point often
differentiates between a grade A and grade C answer with the former being clearly focused on the question
with little superfluous detail. This last point is emphasised in the answer to part (¢), which is an account of
Mumbai and its problems. Although some of the information could be relevant, it is not used in a focused
way. Also, concentrating on only one example reduces the breadth of the analysis.

Mark awarded = 5 out of 10
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Example candidate response — grade E

Examiner comment — grade E

Part (a) is correct. For part (b) there are merely a couple of very general statements. There is very little
use of the resource. The answer to part (¢) is merely a list of issues that could occur in an expanding city.
There is no detailed discussion as to why these could pose challenges and to whom they are a challenge.
Thus, the answers to parts (b) and (¢) are severely limited. A significant proportion of the marks are gained

from part (a), which is usually characteristic of a mark at this level.

Mark awarded = 4 out of 10

Cambridge International AS and A Level Geography 9696
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Section B
Question 7
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Mark scheme
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Example candidate response — grade A
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Examiner comment — grade A

For some reason, candidates find sub-surface hydrology difficult; a point which was raised in the Examiner
report. This candidate falls into that category and the answer to part (a) is not typical of the rest of the
answer. The definition of groundwater uses another term, phreatic, which should also be defined, but isn't.
The relationship between springs and the water table is ignored or unknown. This answer flounders and
makes no specific, accurate points. The answer to part (a)(ii) is thorough and does get all the main points,
even if the replenishment aspect is somewhat vague. The answer to part (b) is more comprehensive than
most in that it does attempt to cover both vegetation and soils separately. Many candidates combined soil
and vegetation. The comparison for vegetation is that between a lot of vegetation and none, i.e. urban.
The idea that different types of vegetation might be described, such a woodland and grassland, occurred
to very few candidates. There are clear areas for improvement. The hydrograph sketches are vague and
not very informative. However, the analysis of soils is more complete than in many answers with some
attempt to explain their influence. Better hydrographs with more analysis of time lags would have raised the
standard of the answer considerably. It is usually the case that meandering rivers are better understood
than braided ones. This answer demonstrates this. The discussion of braiding starts unconvincingly with
mention of deltas, which are inappropriate. Even alluvial fans are unconvincing with respect to braiding.
Because of the mention of braiding, the discussion of clay flocculation is irrelevant. However, some of

the main elements of braiding are understood even if the diagram is not very helpful. The discussion of
meandering river channels is much better and quite comprehensive. Also, the diagram is more informative.
Most of the important factors are discussed. This answer demonstrates that marks can be accumulated in
a variety of ways and not all the parts will be answered to the same level.

Mark awarded = 15 out of 25
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Example candidate response — grade C

48 Cambridge International AS and A Level Geography 9696



Paper 1

Cambridge International AS and A Level Geography 9696 49



Paper 1

50 Cambridge International AS and A Level Geography 9696



Examiner comment — grade C

Overall, this is a good example of the general nature of a grade C answer. Much of the information
presented is of a sound nature, but is usually lacking in some respects, often in depth of description
and explanation. In part (a)(i) there is a partial explanation of groundwater but it lacks precision. The
same is true for the description of springs. The general idea is there but there is no mention of water
table. Unwittingly, the candidate has described the nature of a perched water table. There is a similar
lack of complete detail in the discussion of groundwater recharge. The idea of recharge is sound but it
is not connected to water draw down and the idea that groundwater utilisation has been greater than
input because of a lack of precipitation or some other reason. The answer to part (b) is similarly partial.
There is a discussion of the influence of rock, limestone, rather than soils. There is also confusion over
the permeability of limestone. Thus, there is no account of the influence of soils on the hydrograph. The
analysis of vegetation, using woodland as an example, is quite basic in terms of the processes but the
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52

underlying concepts are sound. The diagram of the storm hydrograph is relevant and accurate. However,
there is no direct comparison with areas lacking in vegetation. The same answer characteristics apply to

the analysis of braided and meandering channel landforms in part (¢). The basic idea of a braided stream is
sound, although the diagram is not especially accurate, labelling braids as interlocking spurs. The analysis of
meandering channel forms only covers point bars, although the description of helicoidal flow and deposition
is quite good. Thus, as throughout the answer, there are major omissions and lack of detail.

Mark awarded = 14 out of 25

Example candidate response — grade E
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Examiner comment — grade E

This answer is a good illustration of marks being obtained in a variable manner. The answer to part (a) (i) is
much better than for most candidates. Both groundwater and springs are defined competently. Itis in the
rest of the question where the answer falls down. In (a) (ii) the answer does not focus on the question and
is more about sub-surface hydrology than groundwater recharge. There is no indication of the groundwater
being replenished. Part (b) is a very partial answer. There is no account of soils and the answer with
respect to vegetation is simplistic with little detail. It is in the answer to part (¢) where the candidate
demonstrates a lack of knowledge and understanding. The only feature of relevance for a meandering
channel is oxbow lakes. The discussion of interlocking spurs is irrelevant. The account of braiding is
inaccurate in its discussion of point bars. There is one brief mention of deposition. Overall, this is a very
marginal answer with large gaps in both knowledge and understanding.

Mark awarded = 10 out of 25
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Question 8
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Mark scheme
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Example candidate response — grade A
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Examiner comment — grade A

Much of the answer operates at a level higher than the minimum for a grade A and demonstrates that
knowledge and understanding is important across the full range of the syllabus. The answer to part (a)(i) is
complete with informative diagrams. The account of the formation of dew for part (a) (ii) is also complete
with an accurate description of the necessary conditions. It is in the answer to part (b) where the quality
wavers. The description of the global pattern of pressure is incomplete and the cells are in the wrong
position. The entire answer is muddled and does not really answer the question. The answer to part (¢)

is much better. The explanation of the greenhouse effect is sound as is the role of human activities. The
wavelengths of the various radiation fluxes are correct and, mercifully, there is no mention of the (irrelevant)
hole in the ozone layer. However, the consequences are discussed in very simplistic terms, thus the
answer is slightly unbalanced. This highlights the need to consider all components of the question.

Mark awarded = 15 out of 25

Example candidate response — grade C
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Examiner comment — grade C

The account of stability for part (a)(i) is thoroughly confused. The account of instability demonstrates a
basic understanding of air reaching saturation and continuing to rise but little reasoning for the continued
uplift. The explanation of dew is sound but is incomplete in some respects. The significance of clear
nights, the escape of long-wave radiation, and the fall in temperature, is sound. It just lacks the idea

than cooler air is unable to hold as much moisture, leading to condensation. The answer to part (b) is
unbalanced. There is an accurate diagram of the tri-cellular model with sensible explanation. However,
there is little of relevance about winds. This is a good example of partial knowledge, which is typical of
answers at this grade. The answer to part (¢) is also slightly unbalanced. There is a straightforward diagram
of the greenhouse effect and the account of gases is quite detailed. The causes of the enhanced effect
are covered but the effects are limited to rising sea level and the extinction of some species in polar areas.
Overall, a sound answer but lacking in detail and balance in some areas.

Mark awarded = 14 out of 25
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Example candidate response — grade E
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Examiner comment — grade E

There is a marked variation in quality in this response. However, it does demonstrate how a lack of breadth
in knowledge and understanding can produce unsatisfactory answers. The answer to part (a)(i) is partial.
The understanding is there but the definitions are incomplete. The return of rising air to its original position
is missing for atmospheric stability and air continuing to rise is missing for atmospheric instability. The
account of dew formation has nothing that is relevant. The answer to part (b) is also completely wrong.
However, the answer to part (¢) is sound if a little unbalanced. There is a good grasp of the causes and
possible consequences of the greenhouse effect but with a surprising lack of mention of carbon dioxide.
This part of the answer rescues the overall answer. The answer demonstrates that to get a mark above
grade E, it is necessary to cover all aspects of the syllabus.

Mark awarded = 9 out of 25
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Question 9

Mark scheme
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Example candidate response — grade A
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Examiner comment — grade A

In part (a) (i) the definition of oxidation caused many candidates problems. Most possessed a vague

notion that it was a chemical weathering process involving oxygen but few were able to define it in detail.
For full marks there needed to be some reference to iron oxides. This candidate only gets part of the
definition. The definition of freeze-thaw caused fewer problems; the most common omission is the need
for repetitive cycles. This answer produces the complete definition. The explanation for exfoliation fails to
mention heating and cooling cycles. A good answer to part (b) needs a balance in the discussion between
limestone and granite. It is chemical composition that requires discussion in this question, thus accounts of
joints and bedding planes are not really relevant. The introduction is good, describing the essential chemical
composition of both limestone and granite. However, the answer then discusses the origin of limestone and
granite landforms and not the ways they are weathered. The answer to part (¢) is comprehensive with all
the main landforms being discussed. Some of the diagrams, such as that for fold mountains, are somewhat
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unrealistic but there is a good understanding of the mechanism, even if there is a slight error in the density

of the plates in one instance. Some relevant examples are provided and the candidate does recognise that
the Hawaiian Islands are formed over a hot spot.

Mark awarded = 16 out of 25

Example candidate response — grade C
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Examiner comment — grade C

In part (a)(i) the definition of oxidation is only partially correct but that for freeze-thaw is complete. The
explanation of exfoliation in part (ii) is only partial, with little detail on the way rocks are heated and cooled
and the need for many cycles. Unfortunately the answer to part (b) is ill-focused. The account of limestone
weathering is sound, apart from getting confused between weathering and erosion. The main part of the
answer wanders off the point. Much of the discussion about granite is not about its chemical composition
but about physical characteristics and physical weathering. The answer does produce a few relevant

points at the end but not enough to rescue the answer. The answer to part (¢) is partial with no mention

of volcanoes and the diagram illustrating the formation of an ocean trench is not clear. However, the main
processes seem to be understood and the specific geographical examples are relevant. This is an answer
with some merit but lacking in important respects.

Mark awarded = 13 out of 25
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Example candidate response — grade E
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Examiner comment — grade E

The definition of oxidation is devoid of merit, whilst that for freeze-thaw weathering is lacking in many
respects. The only point of any merit is the increasing and decreasing of temperatures. The explanation of
exfoliation recognises the expansion and contraction of the rock, but lacks detail. In part (b) there is some
useful information of the nature of granite and limestone but the account of weathering is limited. The
account of granite weathering is marginally better than that for limestone. There is confusion concerning
carbonation and the role of carbon dioxide. The formation of carbonic acid is ignored. Thus, this is a very
partial answer, but with some knowledge and understanding. The answer to part (¢) is confused and
demonstrates little knowledge and understanding. The explanation of the formation of fold mountains, by
the convergence of two oceanic plates, is in error as is the account of rift valleys. Hawaii is described as an
island arc. This illustrates the lack of knowledge and understanding.

Mark awarded = 9 out of 25

Section C
Question 10
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Mark scheme
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Example candidate response — grade A
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Paper 1

Cambridge International AS and A Level Geography 9696 85



Paper 1

86 Cambridge International AS and A Level Geography 9696



Paper 1

Examiner comment — grade A

The definition of natural increase rate is complete. The answer to part (allii) gains by being comprehensive
in describing the differences between several countries at different stages of the demographic transition.
Not all the countries are allotted to the correct stages. However, depth is sacrificed by choosing this
approach. Thus, the change over time is only really covered implicitly with reference to demographic
transition. The answer to part (b), using the China One Child policy, covers many of the important issues
but, in places, lacks some detail. However, the main points are acknowledged. The answer to part (c)

is comprehensive but the detail is not always accurate and the answer does wander off the focus on
occasions. However, it is clear that the candidate does understand the results of the One Child policy.

Mark awarded = 15 out of 25

Cambridge International AS and A Level Geography 9696 87



Paper 1

Example candidate response — grade C

10(b)

88 Cambridge International AS and A Level Geography 9696



Paper 1

Cambridge International AS and A Level Geography 9696 89



Paper 1

Examiner comment — grade C

This is a very unbalanced answer and gets most of its marks from parts (b) and (¢). Unbalanced answers
are often typical at a grade C level. The account of the China One Child Policy in part (b) is competent,
but lacks detail. The answer is rescued by part (¢). It addresses the question with some good, relevant
examples and data backup. It is a pity that the earlier parts were not of this standard.

Mark awarded = 13 out of 25

90 Cambridge International AS and A Level Geography 9696



Paper 1

Example candidate response — grade E

Cambridge International AS and A Level Geography 9696 91



Paper 1

Examiner comment — grade E

The natural increase rate is correct. There is no reference to natural increase in the answer to part (a) (ii).
This is not an answer to the question. The choice of Luxembourg to answer part (b) is unusual but the
detail is relevant if somewhat lacking in detail. It is the answer to part (¢) that demonstrates the lack of
understanding of the question. This answer is more about migration and does not address the policy

of raising the natural increase. Answers at this level often indicate an incomplete understanding of the
requirements of the question.

Mark awarded = 10 out of 25

Question 11

92 Cambridge International AS and A Level Geography 9696



Paper 1

Mark scheme
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Paper 1

Example candidate response — grade A

94 Cambridge International AS and A Level Geography 9696



Paper 1

Cambridge International AS and A Level Geography 9696 95



Paper 1

96 Cambridge International AS and A Level Geography 9696



Paper 1

Cambridge International AS and A Level Geography 9696 97



Paper 1

Examiner comment — grade A

This question requires three essay-type answers so the focus and detail are important. Overall, this answer
is consistent in its quality with a slight drop in quality in answering part (b). The question also requires quite
a breadth of knowledge and understanding. The answer to part (a) is lengthy and comprehensive with a
range of information and relevant specific examples. The choice of example to use in the answer to part (b)
is crucial. It is advisable that the example is well understood by the candidate. The choice of England

is unfortunate as the candidate demonstrates an incomplete understanding of the geography of England.
This detracts from the focus of the question. The answer recovers in part (¢) with another lengthy answer
about risks involved in migration. The answer is quite well balanced with both sides of the argument being
discussed. The detail could be better in places, but the candidate does attempt to answer the question.

Mark awarded = 15 out of 25

Example candidate response — grade C

98 Cambridge International AS and A Level Geography 9696



Paper 1

Examiner comment — grade C

The answer to part (a) is relatively short, but is succinct and does cover a variety of ways. The question
only asks for description, so there is no need for a lengthy discussion. This clarity of thought is not present
in the answer to part (b). There is no specific example and merely a reverse repetition of push and pull
factors. This is a very limited answer. The answer recovers a little in part (¢) but does not possess the
succinctness of the answer to part (a). A limited range of issues is discussed although there is an attempt
to balance the answer with arguments for and against the statement. The overall answer is variable but
with sound knowledge and understanding in some parts.

Mark awarded = 12 out of 25

Cambridge International AS and A Level Geography 9696 99



Paper 1

100

Example candidate response — grade E

Examiner comment — grade E

This answer becomes less coherent and focused as it works though the three parts. Perhaps this indicates
that the question is a good discriminator. The answer to part (a) does describe a number of relevant ways
of obtaining information, but lacks specific examples. The example chosen for part (b) is perhaps not the
most appropriate. Push and pull factors are not developed. For part (¢) only a very limited range of issues
is discussed, without much detail. It is also a very one-sided argument. Overall, there is limited knowledge
and understanding, both of the topics and the needs of the question.

Mark awarded = 9 out of 25
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Question 12
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Paper 1

Mark scheme
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Paper 1

Example candidate response — grade A

Cambridge International AS and A Level Geography 9696 103



Paper 1

104 Cambridge International AS and A Level Geography 9696



Paper 1

Cambridge International AS and A Level Geography 9696 105



Paper 1

106 Cambridge International AS and A Level Geography 9696



Paper 1

Examiner comment — grade A

In part (a) there is a good definition and description of a shanty town with the role of population growth

and in-migration noted. It stresses the lack of resources and peripheral location of many shanty towns.

It wanders off the question at the end and lacks specific examples. A comprehensive range of issues

are discussed in part (b) but there is a tendency to list rather than explain. However, it is a good answer.

It must be remembered that even answers at grade A could be lacking in some respects. The key
characteristic of grade A answers is a balance between all components of the parts of the question and all
elements within the parts. This answer exhibits these characteristics. Thus, the answer to part (c) is well-
balanced with an integrated argument. The issues raised are many and varied and the only aspect lacking is

the use of specific examples.

Mark awarded = 17 out of 25

Example candidate response — grade C

Cambridge International AS and A Level Geography 9696 107



Paper 1

Examiner comment — grade C

This question barely reaches the standard for a grade C but does exhibit all the qualities of answers at
this level. The answers tend to be short, but not without merit. Detail is often lacking. Thus, the answer
to part (a) is short but has some merit. The characteristics of shanty towns are described but there is
little discussion of growth. The answers to parts (b) and (¢) are also short and do not develop the ideas.
However, there is again merit in the answers. In part (c), the ideas presented are sound but only examine
one side of the question. The phrase ‘to what extent’ is not covered.

Mark awarded = 11 out of 25
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Paper 1

Example candidate response — grade E

Cambridge International AS and A Level Geography 9696 109



Paper 1

110 Cambridge International AS and A Level Geography 9696



Paper 1

Cambridge International AS and A Level Geography 9696 111



Paper 1

Examiner comment — grade E

This, overall, is a very ‘'wordy’ answer with little specific detail. In part (a), there is a very basic analysis
with few specific points. Rural-urban migration and the growth of shanty towns are not mentioned and
there is no specific example. The detail in the answer to part (b) is slightly greater but the answer still lacks
precision. The opening paragraph, about the size of shanty towns causing problems for the authorities, is
the best part of the answer. Specific examples are mentioned which makes the omission of examples in
part (@) somewhat puzzling. The rest of the answer is about the problems relating to eviction of squatters,
which is not the main focus of the question. The answer to part (¢) is lengthy but repetitive and not always
focused on the question. It is a series of general statements which rarely touch on the many pros and cons
that could be discussed.

Mark awarded = 8 out of 25

112 Cambridge International AS and A Level Geography 9696



Paper 2

Paper 2

Section A
Question 1
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Paper 2

Mark scheme
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Paper 2

Example candidate response — grade A

Cambridge International AS and A Level Geography 9696 115



Paper 2

116 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 117



Paper 2

Examiner comment — grade A

(a) Uses the Gerschmehl diagram to describe a system with inputs, outputs, stores amd flows. These are
developed in the context of the TRF. The scales of the stores and flows are overlooked.

(b) The climatic parameters are outlined and the TRF vegetation is described in terms of both structure and
characteristics. A limited attempt is made to assess climatic as against other influences. The answer could

have been enhanced by a more detailed description and exemplification of the nature of the vegetation.

Mark awarded = 17 out of 25

118 Cambridge International AS and A Level Geography 9696



Paper 2

Example candidate response — grade C

Cambridge International AS and A Level Geography 9696 119



Paper 2

120 Cambridge International AS and A Level Geography 9696



Examiner comment — grade C
(a) Uses Fig.1 to follow through the flows and stores. The description is reasonably accurate but the answer

lacks coherent explanation of the nature of nutrient cycling and the role of stores and flows.

(b) A developed account of the structure of TRF vegetation with some detail of adaptions such as different
rooting systems. The main weakness of the answer is the lack of any reference to climate and its influences.
To gain higher marks the candidate needed to evaluate the influence of the climate on TRF against other
influences on the vegetation.

Mark awarded = 13 out of 25

Cambridge International AS and A Level Geography 9696

Paper 2

121



Paper 2

Example candidate response — grade E

122 Cambridge International AS and A Level Geography 9696



Paper 2

Examiner comment — grade E

(a) A very sparse description of Fig.1 that does not explain the nature of nutrient cycling in the TRF or how
this is represented by the flows and stores shown. There is some recognition of the relative sizes of the

stores and losses through leaching.

(b) A basic descriptive account of the structure of TRF vegetation with a useful diagram. There is little
description of the characteristics of the vegetation or of any climatic adaptions.

Mark awarded = 11 out of 25
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Paper 2

Question 2
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Paper 2

Mark scheme
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Paper 2

Example candidate response — grade A

126 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 127



Paper 2

Examiner comment — grade A

(a) An account of the soil profile that attempts to indicate the soil forming processes that are at work. The
explanation is limited but does demonstrate some understanding.

(b) A well-worked example of an attempt to sustainably manage a TRF ecosystem in Madagascar. Although
sustainability is kept in mind there is only limited evaluation made of the levels of success.

Mark awarded = 17 out of 25
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Paper 2

Example candidate response — grade C

Cambridge International AS and A Level Geography 9696 129



Paper 2

130 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 131



Paper 2

132

Examiner comment — grade C

(a) The account tends to repeat material directly drawn from the diagram of the soil profile such as pH
value, colour and mineral content without adding any explanation or interpretation. There is only a limited
appreciation of climatic inputs.

(b) Sustainability is not defined but there is some appreciation of the limits placed upon exploitation by
the nature of the TRF ecosystem. This is illustrated by the use of examples of lumber extraction in Brazil
and Bolivia. These examples, however, are not well developed either in terms of management strategies or
sustainability, but still a much better response than part (a).

Mark awarded = 12 out of 25

Cambridge International AS and A Level Geography 9696



Paper 2

Example candidate response — grade E

Cambridge International AS and A Level Geography 9696 133



Paper 2

134 Cambridge International AS and A Level Geography 9696



Paper 2
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Paper 2

136

Examiner comment — grade E

(a) An account that traces the movement of water through the soil with only a very limited appreciation of
any soil forming processes. The candidate has knowledge, but does not necessarily apply it to the question
set.

(b) Although a case study is not employed, the answer attempts to illustrate management through the
practices of shifting agriculture and selective logging. Some attempt is made to assess these in terms of
general sustainability, but the answer could have been improved by use of exemplification and greater
explanation.

Mark awarded = 11 out of 25

Cambridge International AS and A Level Geography 9696



Paper 2

Question 3
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Paper 2

Mark scheme

138 Cambridge International AS and A Level Geography 9696



Paper 2

Example candidate response — grade A

Cambridge International AS and A Level Geography 9696 139



Paper 2

140 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 141



Paper 2

142 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 143



Paper 2

Examiner comment — grade A

(a) Good use is made of the photograph to identify the locations, context and type of coral reef. Conditions
for coral growth are described and fully explained in terms of the development of coral polyps.

(b) The answer concentrates on differing types of cliff profile with each type being illustrated by
appropriate diagrams of such profiles as bevelled cliffs and hogs back. The role of rock type and structure is

described and the contribution of marine and sub-aerial processes assessed.

Mark awarded = 22 out of 25
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Paper 2

Example candidate response — grade C

Cambridge International AS and A Level Geography 9696 145



Paper 2

146 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 147



Paper 2

148 Cambridge International AS and A Level Geography 9696



Paper 2

Examiner comment — grade C

(a) Uses the photograph to identify a fringing reef close to the shore in shallow water. The conditions for
coral growth are described with some limited explanation. Quite a good response.

(b) Although an attempt is made to illustrate cliff profiles with diagrams all the profiles possess the same
shape. They are only weakly explained in terms of either rock type and structure or in terms of marine and

sub-aerial processes.

Mark awarded = 15 out of 25
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Paper 2

Example candidate response — grade E

150 Cambridge International AS and A Level Geography 9696



Paper 2
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Paper 2

Examiner comment — grade E

(a) Very little use was made of the photograph, earning little credit. A partial range of conditions required for
coral growth are given but without any explanation.

(b) The answer does identify the importance of rock type and structure in the production of cliffed coasts
and does describe the operation of subaerial and marine processes. The weakness of the answer lies in the
failure to apply this in any significant way to different cliff profiles.

Mark awarded = 11 out of 25
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Paper 2

Question 4

Mark scheme
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Paper 2

Example candidate response — grade A

154 Cambridge International AS and A Level Geography 9696
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Paper 2

156 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 157



Paper 2

158

Examiner comment — grade A

(a) Although the answer is limited to constructive and destructive waves, their generation is accurately
described. There is a very comprehensive and accurate explanation of the impact of such waves upon the
development of beach profiles.

(b) The East Sussex coastline is effectively employed to demonstrate the problems of sustainable
management of this stretch of coast and some attempted solutions are assessed. The coastal landforms
characterising this coast are described and the strategies used for their protection are assessed in terms of
their sustainability.

Mark awarded = 23 out of 25
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Paper 2

Example candidate response — grade C

Cambridge International AS and A Level Geography 9696 159



Paper 2

160 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 161



Paper 2

Examiner comment — grade C

(a) Constructive and destructive waves are described with some indication of their impact upon beaches.
The account lacks any reference to wave generation.

(b) A rather generic account that deals with general means employed for coastal protection. These are not
assessed as to their sustainability and the problems of coastal management are not developed. The answer

could have been improved by the use of either a case study or of exemplification.

Mark awarded = 13 out of 25
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Paper 2

Example candidate response — grade E

Cambridge International AS and A Level Geography 9696 163



Paper 2

164 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 165



Paper 2

166

Examiner comment — grade E

(a) There is no account of wave generation and that of constructive and destructive waves is very outline in
nature. The impact upon beaches is limited to the addition or removal of sediment.

(b) A case study is given of the East Riding coast with a rather imprecise description of coastal protection
through the employment of hard and soft engineering methods. The effects of such methods were only

partially described and there was little attempt to make any assessment of their success or sustainability.

Mark awarded = 11 out of 25
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Paper 2

Question b
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Paper 2

Mark scheme

168 Cambridge International AS and A Level Geography 9696



Paper 2

Example candidate response — grade A

Cambridge International AS and A Level Geography 9696 169



Paper 2

170 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 171



Paper 2

Examiner comment — grade A

(a) A good understanding of the distribution of hurricanes that makes full use of the figure provided. The
explanation of hurricane formation is adequate but does not discuss the vital role of latent heat.

(b) A good discussion of the different types of hazard that are consequent upon the passage of a hurricane.
It employs effective examples. Some assessment is made of the types of response that have taken place.

Mark awarded = 20 out of 25
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Paper 2

Example candidate response — grade C

Cambridge International AS and A Level Geography 9696 173



Paper 2

174 Cambridge International AS and A Level Geography 9696



Paper 2

Examiner comment — grade C

(a) Deals with the general conditions required for the formation of hurricanes but does not relate these to
the distribution shown on the figure provided which is largely ignored.

(b) Hurricane Katrina is used as an example to illustrate the impact of a hurricane but there is little attempt
to address the problems of hazard management. The account is largely of the effects of the passage of
Katrina.

Mark awarded = 14 out of 25

Cambridge International AS and A Level Geography 9696 175



Paper 2

Example candidate response — grade E

176 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 177



Paper 2

178

Examiner comment — grade E

(a) Little use is made of Fig. 2 with only the vaguest of descriptions of the distribution shown (e.g. ‘the
tropics’). There is a limited appreciation of the general conditions required for hurricane formation.

(b) Hazards associated with hurricanes are described in a generalised and rather unspecific manner.

Attempts to limit the impact of these hazards are described only in terms of engineering methods. No
account is given of the success of these methods, nor is there any discussion of attempts at hazard

management.

Mark awarded = 11 out of 25
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Paper 2

Question b

Cambridge International AS and A Level Geography 9696 179



Paper 2

Mark scheme

180 Cambridge International AS and A Level Geography 9696



Paper 2

Example candidate response — grade A

Cambridge International AS and A Level Geography 9696 181



Paper 2

182 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 183



Paper 2

184

Examiner comment — grade A

(a) A limited description of the distribution of earthquakes shown on Fig.3, but one that does attempt to
organise the groupings of earthquakes into a pattern that fits with associated plate boundaries. Earthquakes
consequent upon subduction are briefly explained.

(b) A good coverage of the types of hazardous materials that result from volcanic eruptions. Types of
response to these hazards are discussed in the context of the importance of prediction and evacuation with

good assessment of the limitations imposed upon human attempts at limiting the hazardous impacts.

Mark awarded = 19 out of 25

Cambridge International AS and A Level Geography 9696



Paper 2

Example candidate response — grade C

Cambridge International AS and A Level Geography 9696 185



Paper 2

186 Cambridge International AS and A Level Geography 9696



Paper 2

Examiner comment — grade C

(a) A good opening account of the distribution of earthquakes, that makes effective use of Fig. 3. The
generation of earthquakes is simplistic and less well accomplished.

(b) The answer concentrates upon the eruption of Mt St Helens, but unfortunately does not adapt this case
study to the demands of the question. Thus the types of hazardous materials are not detailed nor are the

efforts to reduce their hazardous effects. This illustrates the importance of applying case studies to the
demands of the question.

Mark awarded = 14 out of 25

Example candidate response — grade E

Cambridge International AS and A Level Geography 9696 187



Paper 2

188 Cambridge International AS and A Level Geography 9696



Paper 2

Examiner comment — grade E

(a) A general description of earthquake distribution without any indication of scale or any indication of what
might underpin the distribution. A very garbled account of earthquake generation.

(b) A disorganised descriptions of volcanic hazards that centre on volcanic ash and lahars. Pyroclastic flows
and lava are not developed. Whilst the importance of prediction is recognised that means of achieving it or
of the actions taken are not developed or explained.

Mark awarded = 11 out of 25

Question 8

Mark scheme
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Paper 2

190 Cambridge International AS and A Level Geography 9696



Paper 2

Example candidate response — grade A

Cambridge International AS and A Level Geography 9696 191
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192 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 193



Paper 2

194 Cambridge International AS and A Level Geography 9696



Paper 2

Examiner comment — grade A

(a) Plant adaptations in deserts are set within the context of both climatic aridity and soil conditions. The
various types of plant adaption are categorised into those consequent upon episodic rainfall (phreatophytic),
aridity (xerophytic) and soil conditions (halophytic). The answer could have been improved with a little more

explanation.

Cambridge International AS and A Level Geography 9696 195



Paper 2

(b) Water sources are described very briefly and without elaboration. The main part of the answer concerns
the sustainability of various generic types of arid area development such as grazing and irrigation. Whilst
the limitations upon development of water supply are touched upon they are not developed and the answer
could have been considerably improved by exemplification.

Mark awarded = 18 out of 25

Example candidate response — grade C

196 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 197



Paper 2

Examiner comment — grade C

(a) A very disorganised account of plant adaptations that described xerophytic plants and others that were
not identified but appeared to refer to phreatic plants. There was little explanation of the adaptations.

(b) The answer described the lack of water that occurs in desert areas rather than the sources of water
that do occur. There was some limited attempt to assess how the lack of water might inhibit sustainable

development.

Mark awarded = 14 out of 25

198 Cambridge International AS and A Level Geography 9696



Paper 2

Example candidate response — grade E

Cambridge International AS and A Level Geography 9696 199



Paper 2

200 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 201



Paper 2

202 Cambridge International AS and A Level Geography 9696



Examiner comment — grade E
(a) A competent description of some desert plant adaptations including xerophytic, phreatophytic and

halophytic. Explanation is very limited and there is no exemplification.

(b) Two water sources are identified — floods and underground supplies. Neither are explained or developed.
Water supplies are linked to the rather inappropriate examples of shifting agriculture, tourism and factories.
Green island agriculture in the Sahel could have been developed but appears only as an afterthought and
even here there is no indication of the problems of water supply.

Mark awarded = 10 out of 25

Cambridge International AS and A Level Geography 9696
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203



Paper 2

Question 8

Mark scheme

204 Cambridge International AS and A Level Geography 9696



Paper 2

Example candidate response — grade A

Cambridge International AS and A Level Geography 9696 205



Paper 2

206 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 207



Paper 2

Examiner comment — grade A

(a) The response shows a good understanding of desertification. It is a sound response that covers the
human causes of desertification well, although the physical causes of drought and climatic change are less

well developed.

(b) The response covers a number of detailed examples of attempts at development within semi-arid
regions that are made relevant by assessments of the management issues that had characterised them.

Mark awarded = 19 out of 25

208 Cambridge International AS and A Level Geography 9696



Paper 2

Example candidate response — grade C

Cambridge International AS and A Level Geography 9696 209



Paper 2

210 Cambridge International AS and A Level Geography 9696



Paper 2

Examiner comment — grade C
(a) Desertification is defined and a number of human causes are identified and described. The

consequences are briefly described but possible physical causes are not examined.

(b) The answer introduces a number of activities that could be employed in desertified areas such as drip
feed irrigation and dune stabilisation. The answer is rather disorganised ranging between arid and semi-arid
environments. Management issues are not addressed, nor are the limitations imposed upon development
by the environmental conditions.

Mark awarded = 13 out of 25
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Paper 2

Example candidate response — grade E

212 Cambridge International AS and A Level Geography 9696
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Cambridge International AS and A Level Geography 9696 213



Paper 2

214 Cambridge International AS and A Level Geography 9696



Paper 2

Cambridge International AS and A Level Geography 9696 215



Paper 2

216 Cambridge International AS and A Level Geography 9696



Paper 2

Examiner comment — grade E

(a) A rambling account of the causes of desertification that only deals with overgrazing and other human
activities. No indication is given of the nature of desertification or the role of drought.

(b) Some management strategies for arid areas are outlined in a very unspecific manner. The results of
such strategies are not described or assessed and little account is taken of environmental limitations upon

development.

Mark awarded = 11 out of 25
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Paper 3

Paper 3

Section A
Question 1

218 Cambridge International AS and A Level Geography 9696



Paper 3

Mark scheme

Cambridge International AS and A Level Geography 9696 219



Paper 3

Example candidate response — grade A

220 Cambridge International AS and A Level Geography 9696



Paper 3

Cambridge International AS and A Level Geography 9696 221



Paper 3

222 Cambridge International AS and A Level Geography 9696



Paper 3

Cambridge International AS and A Level Geography 9696 223



Paper 3

224 Cambridge International AS and A Level Geography 9696



Examiner comment — grade A

A good quality attempt, displaying high levels of knowledge, understanding and skills. The description

of the trends in (a)li) is careful and detailed, using data from Fig. 1 taken from both axes and covering

a number of named world regions. It is, however, clearly unfinished and the grasp of the nature of the
index is not convincing. Full marks are achieved for (a)(ii) for three different reasons, clearly identified

and satisfactorily developed. In (b) the candidate contrasts achieving agricultural change in MEDCs and
LEDCs, which is one valid approach to the question. The response is balanced and uses detailed evidence
to develop each aspect of the explanation, for example in relation to agricultural change in the candidate’s
home country of Kenya. It shows a solid grasp of the subject area and enters Level 3 by descriptor. As
with (a) it is unfinished. It could be improved in a number of ways, for example with attention to factors in
another dimension, such as political; more specificity about economic factors; or by an holistic approach to
one case of agricultural change to complement the reason-by-reason approach taken here.

Mark awarded = 21 out of 25

Cambridge International AS and A Level Geography 9696

Paper 3

225



Paper 3

Example candidate response — grade C

226 Cambridge International AS and A Level Geography 9696



Paper 3

Cambridge International AS and A Level Geography 9696 227



Paper 3

228

Examiner comment — grade C

A solid attempt overall, with variable quality of outcomes across the three parts of the question. The
response to (a)(i) is awarded full marks because of the detailed approach taken, the level of data support
supplied and the careful attention to and expression of ‘trends’, i.e. changes over time. In the response to
(ii) the reasons are skeletal and need clearer identification and fuller development. The candidate attempts
to link the first broad reason to two of the regions in Fig. 1, although this was not necessary to achieve full
marks. A third reason is difficult to discern in the material offered. The response to (b) is of an appropriate
length and shows knowledge and understanding of factors affecting agriculture, which the candidate
arranges by type. There is however not enough of an emphasis on change although there is potential

for this, particularly in relation to some of the content about Kenya. Compared to the previous example
response, the attempt to contrast this with other countries (USA, Finland, South Africa) is thin, but the
understanding shown is firm.

Mark awarded = 14 out of 25
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Paper 3

Example candidate response — grade E
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Paper 3

230 Cambridge International AS and A Level Geography 9696



Examiner comment — grade E

A basic approach is taken to the interpretation of trends in (a)(i), referring only to the world and the highest
and lowest lines (Latin America and MEDCs). Growth is identified but there is no data support and grasp

of the index is not clear. In (ii) the candidate locates the response correctly in terms of subject content

and tries to offer the requisite reasons, but the content is broad, overlapping and loosely worked. Tighter
expression of reasons, with some specificity is needed to gain the marks. In (b) there is evidence of
learning, for example in relation to the Prairies, but the link to agricultural change is unconvincing. The
content about Zimbabwe is true but descriptive and not made as relevant to the question as it could be. The
closing comment about political instability affecting change is the best point, but briefly made. As a whole
the answer is unbalanced and thin and even the content about Zimbabwe remains generalised at the level of
the name of the country only.

Mark awarded = 9 out of 25

Question 2
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Examiner comment — grade A

The candidate provides two effective definitions in (al(i), one notably longer than the other for no clear
reason. The misspellings and crossings out can be overlooked. The conceptual grasp of both terms is
strong and sufficient to achieve full marks. A number of disadvantages are identified and described in (ii)
and, whilst the explanation given is correct, it could be more fully developed. The response to (b) begins
well with a definition of the informal sector, followed by an initial assessment in the question’s own terms.

It then develops a number of ideas, drawing on examples from a number of LEDCs. Using the descriptors,
in character it is a Level 3 response, and it would be possible to deepen the analysis, especially with respect
to the national economy, and the sector’s real limitations for both, in order to achieve a still higher mark.

Mark awarded = 20 out of 25
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Examiner comment — grade E

The overall quality of this response is a little better than a grade E. It is included for what it demonstrates
in terms of characteristics. The definition of the two terms in (a)(i) is not in the order they appear in the
question. The grasp of industrial agglomeration is firm and sufficient, whereas that of industrial inertia is
wrong and not worthy of any credit. Candidates may be asked to define any term which appears in the
syllabus and definitions are also useful in parts (b) in order to shape and direct the writing. There is little
substantive comment in the response to (a)(ii) beyond a hint about cost in the final sentence. To score
more marks a response based on the effects on production and considering different dimensions, as in the
mark scheme, is needed. In (b) the candidate agrees with the question and does not develop the aspect
of the economy of a country adequately. The material about Jua Kali is realistic and well-directed, but the
answer remains relatively undeveloped and more explanatory than truly evaluative in approach. It could be
improved by a more balanced analytical treatment or by the inclusion of further exemplar content, if known.

Mark awarded = 11 out of 25
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Examiner comment — grade A

This is a well-written and carefully structured response which demonstrates good knowledge and
understanding of the global context in (a) and the chosen national context in (b). The approach to Fig. 2 is
well-organised and insightful, moving from an overview in the first paragraph, to more detailed analysis in
the second. Whereas the question is about ‘trends’, i.e. changes over time, and the analysis is strong, the
candidate falls into the limited practice of identifying the year of the greatest capacity installed in each world
region. As such it is the description element of the response which is not full. The reasoning advanced is
realistic, supported with some place-specific knowledge and demonstrates both a global perspective and a
sense of geographical judgement. The approach to (b) is evaluative, well-informed and convincing in terms
of country detail and contemporary reality and moves easily between different scales. Although possible
approaches vary, one way that the assessment of extent could be further enhanced is by attention to the
contribution of the non-renewable energy sources outlined in the second paragraph.

Mark awarded = 21 out of 25

Example candidate response — grade C
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Examiner comment — grade C

In the response to (a) the necessary element of description of the trends in Fig. 2 is largely overlooked
after reference in the first few lines. The reasoning advanced for the trends is, however, satisfactory

and shows a good appreciation of the energy scene, combining some specific knowledge of the world
regions with wider geographical understanding, to account for what is shown. It would be enhanced if
some assumptions were developed, for example, the meaning of sustainable or the identity of the MEDCs
and LEDCs to which it refers, in relation to Fig. 2. It would also be preferable to use the phrase ‘installed
capacity’ from the figure and the question stem, rather than ‘investment’, as they are not the same. The
response to (b) starts well establishing ‘energy needs’ and recent initiatives and concludes reasonably
well, emphasising timescale. It loses direction in the middle, rather, in that it becomes an assessment of
the success of a single scheme, the Three Gorges Dam. More skilled and disciplined selection, direction
and application of the material to the question and a wider approach to renewables are needed for a better
quality answer.

Mark awarded = 14 out of 25
Cambridge International AS and A Level Geography 9696
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Examiner comment — grade E

The response to (a) comprises both elements (description/suggesting reasons), but each remains limited.
The description of trends consists of an introductory statement distinguishing the three world regions on
the left from the three on the right in terms of level, and a comment near the end about one year. This is
inadequate as an approach. Use is not made of data to support the observations. The reasons suggested
are valid and show some awareness of energy demand and supply. They do, however, lack detail and
evidence of specific knowledge. Whilst the geographical meaning is conveyed, there are errors of spelling,
vocabulary, expression and structure. This candidate makes the classic mistake of referring to Africa as

a country. Whilst examiners do not penalise such errors or use of language they do diminish the overall
quality of the response. There is a key failing in the approach to (b) in that although asked for ‘a named
country’, the candidate writes about two — and so is credited for the better one. The introductory paragraph
shows a modest grasp of renewables, which are defined weakly. The content about the UK is thin and
could apply to many MEDCs. The appropriate use of one learned case would do better.

Mark awarded = 10 out of 25

254 Cambridge International AS and A Level Geography 9696



Paper 3

Question 4

Mark scheme

Cambridge International AS and A Level Geography 9696 255



Paper 3

Example candidate response — grade A

256 Cambridge International AS and A Level Geography 9696



Paper 3

Cambridge International AS and A Level Geography 9696 257



Paper 3

258

Examiner comment — grade A

The response to (a) is careful to identify ‘the main sources’ of air pollution and introduces a number of
them in a judging and weighing manner. Three human and one natural source are given. The human
sources are exemplified from Thailand, but the examples remain quite basic and greater detail or specificity
is needed in order to lift this piece into the highest mark band. For (b) the response is high quality and
shows the use of an environment from the home country to very good effect. It combines local knowledge
and understanding with conceptual insight into the functioning of the ecosystem and environmental
management and with effective assessment. What could be a bland judgement by way of a conclusion

is clearly appropriate in the circumstances. To move higher up the Level 3 mark band, greater detail (e.qg.
named locations, events, dates, leaders, attempts, statistics) is needed.

Mark awarded = 20 out of 25
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Examiner comment — grade C

The response to part (a) is similar in character to that of the previous candidate, combining human and
natural sources suitably. The exemplar content for the human sources is inadequate. That for the natural
sources has some detail and is of better quality. The response to (b) would have been improved by an
identification of the environments chosen at the outset as there are at least three, of varying levels of
development and detail. Overall the work is strong on ‘the measures taken’ which are covered at some
length. The quality of the assessment offered is variable and there is insufficient attention given to what
‘effectiveness’ might mean in these contexts. The last example of the Gulf of Mexico ends abruptly

and may be unfinished. Answer quality could be improved by a less ambitious attempt (taking fewer
environments); by paying more attention to some of the key ideas in the question, such as ‘at risk’; and by
focusing on assessment, as in the Taj Mahal example, rather than taking a more narrative approach.

Mark awarded = 14 out of 25
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Examiner comment — grade E

Overall, the candidate shows a general grasp of some basic ideas about the environment; it is the lack

of exemplar content in both parts which is the principal limitation on performance. The response to (a)
is broad, general and makes a clear attempt to identify ‘'main sources’, as required by the question. The
inclusion of “high population density” and the effects of breathing were not credited. The candidate may
have overlooked the beginning of the question "With the help of examples’, or lack such content, for no
examples are to be found. In (b), clear attention is paid to ‘'measures’ but the approach is inadequate as
no environment is identified and there is just the use of the phrase “the natural environments”. Credit is
given within Level 1 for the broad understanding of some kinds of measures, such as laws or fines, but
the assessment that can be done in the abstract is very limited and not really what the question is about.
The answer needs one or more examples of named, located environments as a basis in order to become
concrete and real.

Mark awarded = 10 out of 25
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Examiner comment — grade A

Although the question asks about ‘relationships between MEDCs and LEDCs'’, the way in which the
response is written suggests that the candidate has taken the last phrase, ‘different types of aid’, as the
organising principle. It proceeds from one form of aid to another, showing understanding of each, but the
relationships remain broad and general and are mainly about the direction of aid flows. It is good to see

a reference to the cartoon in Fig. 3, but the attempt is unconvincing in the interpretation given. Although
the work starts generally a number of recent examples of giving and receiving aid are included. The
connections to debt and to trade are, in this context, acceptable. Response quality could be enhanced by
some sort of overview, by close observation of, and reflection on, the cartoon and/or by some development
of the nature of the relationships, for example in relation to colonial ties or strategic priorities in aid budgets.
The high quality response to (b) is a true consideration and shows skills in cost/benefit analysis (CBA).

It is simply and effectively structured and moves from the general point to exemplar support with ease

in several places. Most of the response consists of developed advantages and disadvantages, one per
paragraph, some of which are very good. The concluding paragraph offers an overall assessment which
could be expanded on for further credit. Higher awards in Level 3 could be given for an integrated and
weighing approach to assessment; fuller detail, perhaps developing example and counter-example; or by
deconstructing the idea of a ‘view’, maybe considering other perspectives and whose they are.

Mark awarded = 19 out of 25
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Examiner comment — grade E

The response to (a) is of the right intention, but remains partial. The candidate identifies that there are two
types of aid, but then appears to write about three (bilateral, multilateral and voluntary). There is some
awareness of recent events shown, such as in Haiti. Not all the ideas advanced about aid are firm. The
relationships in the question are described mainly in terms of connections and direction of aid flows. The
response to (b) is relatively brief. It is a similar length to that for (a) even though the mark allocation is
substantially more. Rather than following the command word and offering a consideration of the view
given, the candidate seems to accept the view — in the first sentence — and then try to explain it and
support it. This is encapsulated in the Level 1 descriptors. The positive emphasis, on benefits, makes
for an inadequate approach to a much broader issue and the writing is general except for the mention of
China. The quality of the response would be enhanced by the inclusion of costs and so greater balance; an
evaluative rather than an explanatory approach; and specific exemplar content.

Mark awarded = 10 out of 25
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Examiner comment — grade A

In both sub-parts of (a) the candidate demonstrates good understanding of the tourism life cycle model.

In (i) a little time and effort is wasted giving reasons for the changes, when the command word is
‘Describe’ and no mention is made of consolidation, but the focus on ‘character’ is firm. In (ii) there is an
admirable attempt to identify ‘factors’, such as “motivation”, but it could be made explicit who is involved

in rejuvenation, such as national government, local planners or entrepreneurs in the tourism sector. The
candidate uses good detailed contrasting examples. The response to (b) is well-written and presents

and develops a personal perspective, addressing both timescale and spatial scale. There is good varied
exemplar content about ecotourism and a management perspective is apparent, but overall the writing lacks
the detailed content about conventional tourism to move higher in Level 3. More could be made of the
content about its problems which is embedded in the coverage of ecotourism.

Mark awarded = 20 out of 25
Cambridge International AS and A Level Geography 9696
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Examiner comment — grade C

The description in (a)(i) appears to be derived largely from Fig. 2 with the exception of a few ideas such
as "second class infrastructure”. As such ‘character’ is insufficiently developed. The response is also
broader than the question in that it continues beyond stagnation, so the last five lines are irrelevant. In (ii)
the candidate takes Kenya for decline, but the selection of material is not disciplined and the ‘factors’ for
which the question asks are rather limited. The example of Malaysia is taken for rejuvenation and is rather
better done, although, again, the factors could be pointed up to good effect. For (b), the candidate shows
knowledge of both ecotourism and conventional tourism and develops some useful ideas. The quality
would be enhanced by an attempt to get at the idea of inevitability in the question; and/or by further specific
examples. What is found about Ban Don Bay in Thailand is exactly what is needed; more could be made
of the content about Sarawak and Goa. The conclusion is personal, rather bleak and, perhaps, not fully
justifiable.

Mark awarded = 14 out of 25

Example candidate response — grade E
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Examiner comment — grade E

This is a brief attempt at the question, especially in part (b) given the mark allocation and time available.
Some grasp of the model is shown in (a). For (i) stagnation is the strongest element, but character is little
explored. In (ii), poor expression and an uncertain example obscure the response and the examiner is

left to identify the factors within what is written. The approach to (b) is brief and general, based around
the concept of carrying capacity and the balance between resources and population. There is some
understanding shown of environmental disturbance and of tourism-related crime, but unless the context is
taken to be implicitly that of the candidate’s home country, it reads as being unlocated and broad. In order
to gain more marks, attention needs to be given to examples of what the problems of conventional tourism
are and whether these are found already now or will ever be found in relation to examples of ecotourism.
This would need developing at rather great length than is offered here.

Mark awarded = 10 out of 25
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Examiner comment — grade A

The response to (a) is of high quality. The good definition in (a)(i) is especially clear in the explanation

of how FDI occurs. This is both concise and strong conceptually. The explanation in (ii) is similarly
accomplished and uses the chosen example skilfully with well-selected detail on comparative costs. The
response could be enhanced by a little more content about other functions within the division of labour or
by a little elucidation in relation to the ‘'new’ of the term. The assessment offered in (b) is of Level 3 quality
in terms of argument, the balance of the approach taken and conceptual understanding displayed. Itis a
rare and perceptive observation, for example, to cite the environment as one of the losers. The quality of
the response would be improved by pertinent exemplar content to support and advance the general points
made; the lack of place-specific or named content (such as particular TNCs) being its major limitation.

Mark awarded = 20 out of 25

Example candidate response — grade D
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Examiner comment — grade D

This uneven response is thin and brief in (a). The approach to (b) is direct, more fully developed and of

a more suitable length at this level and for the mark allocation. This response is slightly better quality

than a typical grade E, but is included for what it demonstrates. For (a)(i) FDI is understood although the
explanation is narrow. One reason it may be restricted is that it takes an example when actually it is in

(i) that this is asked for. By contrast, understanding in (ii) is less firm and the explanation advanced is
simplistic and inadequate, being at the scale of sectors and countries within the global economy rather than
the global production network of TNCs. The candidate uses their own term (IDOL), loosely, rather than

the one given (NIDL). The response to (b) begins about trade but then broadens to cover other aspects

of globalisation. It shows some appreciation of different dimensions (social, economic, environmental,
political) yet the environmental content is about ‘problems’, which diverges from the question, and is

brief and general. There is a sense in which the candidate seems to be struggling to use the question’s
categories ‘winners’ and ‘losers’ and to apply knowledge and understanding of globalisation in the manner it
demands.

Mark awarded = 11 out of 25
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Examiner comment — grade A

The approach taken in (a)(i) to describing the spatial inequalities in Fig. 3 is only partly successful in that,

by taking each class of the key in turn, the sense of spatial variation is limited and the final sentence only
identifies one element of an overview. In (ii) expression is moderate and some low level reference is made
to both the index and the mapping. Greater coherence and fuller explanation of these ideas and others
would be needed for higher reward. By contrast, the response to (b) using the familiar example of China,
is good quality. It takes the broad east/west disparity as the context and first looks at policy and initiatives.
However, rather than ending there, it pursues the assessment in a long paragraph of evaluation, taking a
number of reasons why the stated disparity is indeed "difficult to overcome’. At a number of points some
specific exemplar support for the good quality observations made would drive the achievement still higher
in Level 3. The aggregate quality of the answer is at the grade A border.

Mark awarded = 17 out of 25
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Examiner comment — grade C

The interpretation of Fig. 3 in (a)(i) is rather loose, in that it overstates the variation and omits data. By
contrast, (ii) is done well and considers both the nature of the index and the nature of the mapping with
some insight into both spatial inequality and the techniques. A little further attention to one or the other
could bring it to full marks as the candidate evidently understands what is required. The response to (b) is
lengthy but of moderate quality. Its tone is more that of an explanation than that of an assessment in that it
tends to state why. The link made to (a), income poverty and Vietnam is acceptable but unexpected, given
that for most candidates Vietnam is likely to be an unfamiliar context. The inclusion of material internal

to Hong Kong needs care but the New Territories are acceptable as an example of regional development,
whereas the content within the city of Sydney is not. The candidate identifies four factors which relate to
difficulties, but the writing is incoherent and the continued emphasis on income poverty restrictive.

Mark awarded = 13 out of 25

Cambridge International AS and A Level Geography 9696

Paper 3

307



Paper 3

Example candidate response — grade E

308 Cambridge International AS and A Level Geography 9696



Paper 3

Cambridge International AS and A Level Geography 9696 309



Paper 3

Examiner comment — grade E

This performance is uneven with almost all the marks derived from (b) and learned material. The candidate
seems to lack the skills to interpret Fig. 3 effectively. Three lines of writing for (a)(i) are insufficient for a
mark allocation of five and the detail of the map, its overall pattern and complexities and anomalies are not
apparent. In (ii), the question appears to have been misread or misinterpreted as the explanation given is
of the actual pattern in Fig. 3, rather than of the index and the map representation. As such the rare award
of zero is justified. The response to (b) is of different character and a satisfactory standard. Taking two
regions in Brazil, it develops the context broadly, showing greater knowledge and understanding than skills
in selecting, directing and applying the material to the actual question. The sense of difficulty it conveys is
clear, however the assessment offered seems overstated. This may, in part, be an issue of expression for a
candidate whose first language is not English.

Mark awarded = 10 out of 25
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